Find © (0< 0s2m):
l.cos8=%
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2.sinB=-1 |
.

3.tanB =
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4: cos 30° = \/:%;/

5.cos45°= /
Az

6.csc315° = :
— L

7.5in0°= @

8.cos90° = 0
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9. csc210° = L

10. cot 0° = j}ﬂ@

11.tan120°= V3
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12.sec330° = "?’
A

13.¢sC270° = j

14.cot 135°= /

18. sin—= ,.{-—
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19. cos = .

22.secmw= fz

23, sec—§= g
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25. cot—%Iz O

v
26. cos e

N
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27.csc 5—; = z

. 27 =
28. tan =~ = \(3:

Find 0 (0 0<2n):
29. csc 8 =3.256

b= 32 2829

30. cot 8 =.21686

|- 35FZ, #4483

31.cos6=-.782

=24/, 3416

32.tan8=-1.212

?ﬁ’:“‘,?-ﬁ@‘// 5ulp2,



